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General English Language - General English Language

Question No.1

Choose the word which expresses nearly the opposite meaning of the given word "
ENCROACH ".

(A) O Ignore (Correct Answer) (Chosen option)
(B) O Intrude

(C) O Crash

(D) O Interfere

Question No.2

Fill in the blanks with suitable Article from the given alternatives.

We are trying to give
(A) O a

(B) O an (Correct Answer) (Chosen option)
(C) O the

(D) O No article

incredible performance in the farewell day function.

Question No.3

Choose the word which best expresses the similar meaning of the given word "
EMBRACE ".

(A) O Distrust

(B) O Lock (Correct Answer) (Chosen option)
(C) O Free

(D) O Give

Question No.4

Find the word which is correctly spelt from the given options.
(A) O Ethreal

(B) O Exemplary (Correct Answer)
(C) O Feesible
(D) O Asimilate (Chosen option)
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Question No.5 Marks:

Bookmark
Find the word which is correctly spelt from the given options.

(A) O Gradiant
(B) O Eroneous
(C) O Fragmanted (Chosen option)
(D) O Exhaustive (Correct Answer)

Question No.6 Marks:

Bookmark
Choose the word which best expresses the similar meaning of the given word " REPLETE

(A) O Charged (Correct Answer) (Chosen option)
(B) O Enlarge
(C) O unfilled
(D) O Empty

Question No.7 Marks:

Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.

The rumour spread all the town.
(A) O since

(B) O for (Chosen option)

(C) O across (Correct Answer)

(D) O on

Case Study - 8 to 12
Directions: Read the passage carefully and answer the questions that follow.
The animals that live in a specific region are what we call the wildlife of the region. Just as
vegetation is the flora, wildlife is the fauna of a region. It includes all the animals, birds, insects
etc. of the region.
The diversity of wildlife in the world is unimaginably large. There are said to be about 1 to 2 million
species of animals on the planet! And India in particular boasts of an incredible wildlife presence.
Our national animal, the tiger is one such rare animal found in India. In fact, the Bengal tiger can
be found nowhere else on earth. We also have the Asiatic Lion, the only species of lions found
outside Africa.
To preserve these amazing animals and their natural habitats, we have many conservatories,
national parks and wildlife sanctuaries. In recent times to bring down illegal hunting and poaching
the Indian government has passed some very strict laws as well.

Question No.8 Marks:

Bookmark
Which of the following would be the suitable title for the given passage?
(A) O Wwild life in India (Correct Answer)

(B) O National animal - Tiger (Chosen option)
(C) O Indian vegetation
(D) O lllegal hunting of animals

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

Question No.9

Statement 1: The animals that live in a specific region are called as fauna.
Statement 2: Bengal Tiger is found only in India.

(A) O Statement 1 is true and statement 2 is false (Correct Answer)
(B) O Statement 1 is false and statement 2 is true

(C) O Both the statements are true

(D) O Both the statements are false (Chosen option)

Question No.10

What do we have to safeguard the animals and their habitats?
(A) O Conservatories

(B) O National parks
(C) O Wwildlife sanctuaries
(D) O All of these (Correct Answer) (Chosen option)

Question No.11

According to the passage, what does the word 'boasts’ mean?
(A) O Brags (Correct Answer)

(B) O Defames
(C) O Hides
(D) O Abuses

Question No.12

What are vegetation in a specific region called?
(A) O Species

(B) O Fauna

(C) O Flora (Correct Answer) (Chosen option)
(D) O Wildlife

Question No.13

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

One who journeys from place to place

(A) O Amphibian

(B) O Itinerant (Correct Answer) (Chosen option)
(C) O Polygamy

(D) O Teetotaller

Question No.14

E
Replace the underlined phrase grammatically and conceptually with the help of the given
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options. If the given sentence is correct then select the option 'The given sentence is
correct..

All three_sectors have skilled labourers/professionals who have been working hard to
build the country’s economy.

(A) O sector have skilled labourers/professionals who has
(B) O sector have skilled labourers/professionals who have
(C) O The given sentence is correct (Correct Answer)

(D) O sectors has skilled labourers/professionals who have

Question No.15

Bo
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct..

Patriotism is the feel of love and devotion for one’s country and a sense of alliance and
brotherhood with its citizens.

(A) O was the feeling of love and devotion for one’s (Chosen option)
(B) O is feeling of love and devotion for one

(C) O The given sentence is correct

(D) O is the feeling of love and devotion for one’s (Correct Answer)

Question No.16

Bo
Fill in the blanks with suitable Article from the given alternatives.

The chief selector said that the former skipper remains
and finisher in the game.

(A) O a

B) O an

(C) O the (Correct Answer) (Chosen option)
(D) O No article

best wicket-keeper

Question No.17

Bo
Fill in the blanks with suitable Article from the given alternatives.

Our college has set up counselling centre and a student welfare group that
helps students to cope up with the stress.

(A) O a (Correct Answer) (Chosen option)
(B) O an

(C) O the

(D) O No article

Question No.18

Bo
Choose the word which expresses nearly the opposite meaning of the given word " FOE
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(A) O Rival (Chosen option)

(B) O Enemy

(C) O Assistant (Correct Answer)
(D) O Adversary

Question No.19

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

An event causing sudden damage or suffering
(A) O Nostalgia

(B) O Chronology

(C) O Ephemeral (Chosen option)

(D) O Catastrophe (Correct Answer)

Question No.20

Fill in the blanks with suitable Preposition from the given alternatives.

They are living the temple.

(A) O behind (Correct Answer) (Chosen option)
(B) O with

(C) O over

(D) O before

Question No.21

Fill in the blanks with suitable Preposition from the given alternatives.

The book is the table.

(A) O on (Correct Answer) (Chosen option)
(B) O through

(C) O across

(D) O about

Question No.22
[
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

Union ministers Nirmala Sitharaman and Subrahmanyam Jaishankar will being
conferred the Distinguished Alumni Award by Jawaharlal Nehru University.
(A) O The given sentence is correct

(B) O will conferred the Distinguished
(C) O will be confers the Distinguished
(D) O will be conferred the Distinguished (Correct Answer) (Chosen option)
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Question No.23

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

The art of writing or solving codes

(A) O Cryptograph (Correct Answer) (Chosen option)
(B) O Potable

(C) O Infallible

(D) O Pedantic

Question No.24

Find the word which is correctly spelt from the given options.
(A) O Peculier

) O Reproache

(B
(C) O Unanimity (Correct Answer) (Chosen option)
(D) O Unmitigatad

Question No.25

E
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct'.

The corals in the southern Israeli port Eilat are more like perishing due to the toxins and
pollution from human activity and industry entering the bay on a daily basis.

(A) O are most likely perishing due to the (Correct Answer)
(B) O is most likely perishes due to the (Chosen option)

(C) O is most likely perishing due to the

(D) O The given sentence is correct

Odia Language - Odia Language

Question No.1

'ARIF - 619 ARG 60 Q'€ ?

(A) O fsgd

B) O 2eia

(C) O g@Ia (Chosen option)
(D) O @qIA1 (Correct Answer)

Question No.2

'AYFQ - LR UGS 6@ Q'8 ?
(A) O gea
(B) O @a@a (Correct Answer) (Chosen option)
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(€) O «4
D) O gd

Question No.3

AR FIRGE @61 ?

(A) O airen

B) O qeaén

(€) O a1 (Chosen option)
(D) O aiequén (Correct Answer)

Question No.4

'60 @RQ 2R |- QANYER 2 'RPQ' 676 A ?

(A) O ag

(B) O age

(C) O <=z (Correct Answer) (Chosen option)
(D) O G

Question No.5

QIRER | 6LIIQ 6RIM KA | - QRYER QI 'VARER’ 6a NG ?
(A) O agm

(B) O gaeil (Correct Answer) (Chosen option)

(C) O go1a

(D) O ogeh

Question No.6

'R & NI G ?

(A) O o@e

(B) O am

(C) O g9 (Chosen option)
(D) O o9 (Correct Answer)

Question No.7

QAR QLT 64 28 O ?
(A) O grRarim

(B) O @UQIR6Q 94920 IR
(C) O 640 CIRg ¥4 @Y
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(D) O 263, (Correct Answer) (Chosen option)

Question No.8

'YQ- SRQ AITeQRIR 66T Q'8 ?
A) O @&ei1 (Correct Answer) (Chosen option)

B) O QeI
C) O afIea

(
(
(
(D) O ergeim

Question No.9
0% 66 59Ia & |
(A) O 2igdel
(B) O 2ugaia,
(C) O 2IgRs!
(D) O a1xigaiél (Correct Answer) (Chosen option)

Question No.10

PRG- 686 9A1Q ?

(A) O gq

(B) O aayieue

(C) O ©9 gga (Chosen option)
(D) O Q@@ (Correct Answer)

Question No.11

90 AgR- TR 6al 21l O ?

(A) O Q2 696P

(B) O 92 6a6rQ 2e=IQ

(C) O a1 atieesicq @@QI (Correct Answer) (Chosen option)
(D) O Q& 6q&ra Qd

Question No.12

'ﬂg@' ® IR ae ?

(A) O am

(B) O zagee

(C) O e@a& (Correct Answer) (Chosen option)
(D) O aIQe
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Case Study - 13to 17
ARSIAR ARISE 22 66INIRIAR QGRS | IR ATIQ FE6! QIR g 6ARRIERER 2REIR AR
6dled @a6a QF cemelN | AIneq sdiadieal Gl 6dledi aIgrl JQAQ ARFINR AF | ARIA §4!
ORENEN 6008 SR AQ8 9610 99 IR BR! AIBEY 6aTR YeaIRe F6r 29 1@ |

Question No.13 Marks

Bookmar
Qa8 QA IR ﬂ@@l g@@y 62IHelN?

(A) O @IaIa (Correct Answer) (Chosen option)
(B) O 2rRwxIeQ

(C) O a@eya

(D) O qrea

Question No.14 Marks

. Bookmar
AIFGY 6REP6Q6R LEEINE F16REY RIR?

(A) O 2RI QP 626m

(B) O uRXIOQZE 626m (Correct Answer)
(C) O URFIQLYY 626m

(D) O e g8l 626m (Chosen option)

Question No.15 Marks

‘ Bookmar
AE8Q 694 6Qld ARFIR JFa ag?

(A) O @yl

(B) O edi@dyeId (Correct Answer) (Chosen option)
(C) O qyeany

(D) O gersal

Question No.16 Marks

; Bookmar
606 QAIRIP A0 EQEITTN Q! A 6QIN?

(A) O egq
(8) O &l
(C) O ameia (Correct Answer) (Chosen option)
(D) O &gy

Question No.17 Marks

Bookmat
66PN QIRAEIR 2R 28] @'817

(A) O aeaia (Correct Answer) (Chosen option)
(B) O «al
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(C) O Q@oy
(D) O g

Question No.18

‘RPN - 626 FNIQ ?

A) O gq

(B) O 2eygeue (Chosen option)
(C) O or{as

(D) O @& (Correct Answer)

Question No.19

'ARIQ - F19Q FAQG 619 @'61 ?

(A) O Qe

(B) O @QIRIa (Correct Answer)
(C) O Faga

(D) O 2RI (Chosen option)

Question No.20

0Q 606 5gIR G2l |
(A) O eaar)eIql (Correct Answer)
(B) O @eqrnalon
(C) O qeqaeld
(D) O QaQyaId

Question No.21

'YeRURRIET GIQ 6AIGIER 60 A0G 94 ?
(A) O ag

(B) O age

(C) O @14l (Correct Answer)
(D) O agen

Question No.22

0 61QG 521 G2 |
(A) O aaeua (Correct Answer)
(B) O Q6@I6:I0Q
() O aveaa
@)
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(D) QAGEaIQ (Chosen option)

Question No.23

B
'QeIQT- 610Q AFIFERIR 61RE @€ ?

(A) O Gl
(B) O Q¢eeal (Correct Answer) (Chosen option)
© O an

(D) O Ga4l

Question No.24

B¢
'gel QIR QPG 6aa! 21 O ?

(A) O 6QId 66lI&QI (Correct Answer) (Chosen option)
(B) O @2 a8l

(€) O e géial

(D) O @l 61R @&al

Question No.25

B¢
APRRE! - 686 AL ?

(A) O og9e@

B) O ¢f

(C) O @kl (Chosen option)
(D) O 24QUQ (Correct Answer)

General Knowledge - General Knowledge

Question No.1

B
India treats all the religions equally. It is implied by the term
Indian Constitution.

(A) O Democratic

(B) O Secular (Correct Answer)
(C) O Socialist

(D) O Fraternity (Chosen option)

in Preamble of the

Question No.2

B¢
India supported the candidature of the External Affairs Minister of which country for the
UNGA Presidency in 20217

(A) O UAE (Chosen option)

(B) O SrilLanka

(C) O Maldives (Correct Answer)
O
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(D) Israel

Question No.3

B¢
The famous Konark Sun Temple was built by the ruler of which dynasty?

(A) O Bhoi Dynasty

(B) O Suryavamsi Gajapati dynasty

(C) O Eastern Ganga dynasty (Correct Answer) (Chosen option)
(D) O Chalukya Dynasty

Question No.4

B«
Who among the following devised the Mahalwari System?

(A) O Holt Mackenzie (Correct Answer)
(B) O William Bentinck

(C) O Robert Clive

(D) © Warren Hastings (Chosen option)

Question No.5

B«
targets to bring about an improvement in the general quality of life in rural
areas by promoting cleanliness and hygiene, and eliminating open defecation.

(A) O Swachh Bharat Mission Urban (Chosen option)
(B) O Clean National and Clean Water Mission

(C) O Swachh Bharat Mission Gramin (Correct Answer)
(D) O Neutralize Quality Mission

Question No.6

B
A mural painting of 4th-5th century AD of Odisha is known as

(A) O Ushakothi (Chosen option)
(B) O Vikramkhola

(C) O sitabhinji (Correct Answer)
(D) © Jogimatha

Question No.7

B¢
In which year, The Arab Charter on Human Rights (ACHR), adopted by the Council of the
League of Arab States?

(A) O 2016
(8) O 2012
(C) O 2008
(D) O 2004 (Correct Answer)

Question No.8

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

The Hathigumpha or elephant cave of the Udaygiri hill bears the inscriptions of which
ruler?

(A) O King Kapilendradeva

(B) O King Narasimhadeva |

(C) O King Kharavela (Correct Answer) (Chosen option)
(D) O King Anangabhima lll

Question No.9

Which of the following Indian states does not share its boundary with Bangladesh?
(A) O West Bengal

(B) O Tripura (Chosen option)
(C) © Manipur (Correct Answer)
(D) © Meghalaya

Question No.10

Which of the following resembles the ‘Instrument of Instructions’ enumerated in the
Government of India Act of 19357

(A) O Directive Principles of State Policy (Correct Answer)
(B) O Right to Information Act

(C) O Citizenship

(D) O Preamble of the Constitution (Chosen option)

Question No.11

Where is Jaintia Hills located?
(A) O Rajasthan

(B) O Bihar
(C) O Meghalaya (Correct Answer)
(D) O Tripura (Chosen option)

Question No.12

In which year, the first Odia newspaper 'Utkala Deepika' was started?
(A) O 1852

(B) O 1879
(c) O 1846
(D) O 1866 (Correct Answer) (Chosen option)

Question No.13

The reorganisation of districts of Odisha from 13 districts to 30 districts has been
implemented in which year?

(A) O 1994
(B) © 1990 (Chosen option)
O
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© 1993
(D) O 1992 (Correct Answer)

Question No.14

The VyagharaGumpha of the Udaygiri hill is also known as:
(A) O Ganesha Cave

(B) O Elephant cave (Chosen option)
(C) O Queen cave
(D) O Tiger cave (Correct Answer)

Question No.15

In which year was Goa conquered by the Portuguese ?
(A) O 1626 AD

(B) O 1610 AD
(C) O 1510 AD (Correct Answer) (Chosen option)
(D) O 1526 AD

Question No.16

Which of the following is established under Article 338A of the Indian Constitution?
(A) O Comptroller and Auditor General

(B) O State Information Commission (Chosen option)

(C) O National Commission for Scheduled Tribes (Correct Answer)
(D) O Central Vigilance Commission

Question No.17

With which Indian state is the Monpa Handmade Paper associated?
(A) O Arunachal Pradesh (Correct Answer)

(B) O Haryana
(C) O Karnataka
(D) O Sikkim

Question No.18

Which of the following scripts was used in Ashokan inscriptions?
(A) O Brahmi (Correct Answer) (Chosen option)

(B) O Nagari
(C) O Sarada
(D) O Siddham

Question No.19

Which among the following countries was the first in the world to permit the sale of lab
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grown meat?

(A) O Brazil (Chosen option)

(B) O Russia

(C) O China

(D) O Singapore (Correct Answer)

Question No.20

E
In which state, National Thermal Power Corporation Limited (NTPC) has commissioned
India's largest 25 MW floating solar PV project?

(A) O Guijarat (Chosen option)

(B) O Andhra Pradesh (Correct Answer)
(C) O Assam

(D) O Uttar Pradesh

Question No.21

The National Commission for Scheduled Castes presents an annual report to the

(A) O Union Minister of Law and Justice

(B) O President of India (Correct Answer)

(C) O Governor of the State

(D) O Union Minister of Minority Affairs (Chosen option)

Question No.22

Kalinga had trade relations with the coastal region of Africa, Mexico, and Peru by sea.
Who has given this viewpoint?

(A) © R D Banarji (Correct Answer)
(B) O A Stirling

(C) O HK Mahatab

(D) © W W Hunter

Question No.23

E
"Exercise Konkan 2021", a Bilateral Naval Exercise held between the India and i

(A) O United States of America

(B) O United Kingdom (Correct Answer) (Chosen option)
(C) O France
(D) O Germany

Question No.24

On which river is Nagarjuna Sagar dam built?
(A) O Mahanadi

(B) O Cauvery
O
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©) Krishna (Correct Answer) (Chosen option)
(D) O Tapti

Question No.25

Which of the following dam of Odisha is constructed over river Brahmani?
(A) O Machhakund

(B) O Indravati (Chosen option)

(C) O Rengali (Correct Answer)

(D) O Hirakud

Question No.26

Recently, which Institution introduced the "financial Inclusion Index" to measure the
extent of financial Inclusion across India?
(A) O Reserve Bank of India (Correct Answer) (Chosen option)

(B) O NABARD
(C) O State Bank of India
(D) O NITI Aayog

Quantitative Aptitude - Quantitative Aptitude

Question No.1

What value should come in the place of question mark (?) in the following question?
9.5%(22x2.5x3.5x36)+11 =7

(A) O 6085

(B) O 5985 (Correct Answer) (Chosen option)

(C) O 5885

(D) O 5785

Question No.2

Average of 11 consecutive numbers is 550. If the average of 15! 5 numbers is 547 and
the average of last 5 numbers is 553, find the middle number.

(A) O 550 (Correct Answer)
(B) O 560

(C) O 540

(D) O 530 (Chosen option)

Question No.3

The average of 57 numbers is 203. After excluding one of the numbers, the average
remains the same. Find the number which is excluded.

(A) O 201
(B) O 203 (Correct Answer) (Chosen option)
(C) O 197

O
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0) 199

Question No.4

What value should come in the place of question mark (?) in the following question?
(1/59)x27258+1/66(9240) = ? x 301

(A) O 1
B)O 3
(C) O 2 (Correct Answer)
D) O 4

Question No.5

Find the value of X:
Vx x 240 = (23701-23461)%31

(A) O 784
(B) O 961 (Correct Answer)
(€) O 841
(D) O 900

Question No.6

After 5324 liters of petrol were poured into the tank, it was still 12% empty. What is the
total capacity of the tank?(in liters)

(A) O 5950
(B) O 5750
(C) O 5850
(D) O 6050 (Correct Answer) (Chosen option)

Question No.7

A can finish a work in 282 days and B can do the same work in 564 days. Working
together, they will complete the same work in how many days?

(A) O 186
B) O 190
(C) O 188 (Correct Answer) (Chosen option)
(D) O 184

Question No.8

If a bus travels from city A to city B with a speed of 621 kmph and another bus travels
from city B to city A with a speed of 531 kmph, find the relative speed when both the
buses cross each other.(in m/s)

(A) O 308 (Chosen option)
(8) O 312

(C) O 320 (Correct Answer)
(D) O 316
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Question No.9

Find the average of arithmetic progression whose first term is 2383 and the last term is
4605.

(A) O 3694
(B) O 3794
(C) O 3494 (Correct Answer) (Chosen option)
(D) O 3594

Question No.10

If Ramesh distributed 2331 chocolates from a box of 5550 chocolates, what percentage
of the chocolates will be left in the box?

(A) O 61
(B) O 60
(C) O 58 (Correct Answer)
D) O 59

Question No.11

Pipe A can fill a tank in 390 minutes and Pipe B can fill the same tank in 780 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?
(A) O 280

(B) O 260 (Correct Answer) (Chosen option)

€) O 240

(D) O 300

Question No.12

The average of 175 lab readings was 71 units. Later on it was found that a reading 246
was wrongly typed as 71. Find the correct average.

(A O 74
B) O 70
(C) O 76
(D) O 72 (Correct Answer)

Reasoning Ability - Reasoning Ability

Question No.1

A woman walked 7km in the West direction, took a left turn and walked 10km and
walked 28km after taking another left. She then walked 10km in the North direction and
finally took a left turn and covered the distance of 13km. How far is the starting point
from the ending point?

(A) O 6km
(B) O 8km (Correct Answer) (Chosen option)
€) O 12km

O
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(D) 10km

Question No.2 Marks: 1.0

Bookmark
Find the next number in the series.

673, 589, 484, 358, 211,7?

(A) O 44

(B) O 43 (Correct Answer) (Chosen option)
() O 41

(D) O 42

Question No.3 Marks: 1.0

Bookmark
Find the next number in the series.

252,392,576,810,1100,?

(A) O 1652

(8) O 1552

{C) O 1752

(D) O 1452 (Correct Answer) (Chosen option)

Question No.4 Marks: 1.0

Bookmark
A Man facing in East direction turns 45 degrees clockwise, then turns 180 degrees anti-

clockwise and then turns 45 degrees in clockwise direction. Which direction is he facing
now?

(A) O South-East

(B) O North (Correct Answer) (Chosen option)
(C) O East

(D) O South

Question No.5 Marks: 1.0

Bookmark
In a certain code language, if PERFECT is coded as QFSHHFW, then how is TUESDAY
coded in that language?

(A) O UTFREZZ
(B) O UVFUGDB (Correct Answer) (Chosen option)
() O UVFREBZ
(D) O ZBETFVU

Case Study - 6to 8 3.0
Directions: Read the given information carefully and answer the questions that follow.
Eight persons are sitting in two parallel rows containing four people each, in such a way that there
is an equal distance between adjacent persons.
Inrow-1 A, B, C and D are seated and all of them are facing South.
Inrow-2 P Q, Rand S are seated and all of them are facing North.
Therefore, in the given seating arrangement , each member seated in a row faces another member
of the other row.
i) P sits third to the right of R and faces A
ii) D and B are neighbours
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iii) C doesn't face R
iv) Q sit to the immediate right of R and faces D

Question No.6

Who sits opposite to the one who is second to the right of Q?
A)O C

B)O D

(C)O A (Correct Answer) (Chosen option)

(D) O

Question No.7

Who sits to the immediate right of C?

A) O A

(B) O B

(C) O D (Correct Answer) (Chosen option)
(D) O None

Question No.8

Who sits to second to the left of P?

A)O P

B)O S

(C) O Q (Correct Answer) (Chosen option)
(D) O None

Question No.9

In a certain code language, if FIVE is coded as UREV, then how is KING coded in that
language?

(A) O MKPI
(B) O PRMT (Correct Answer) (Chosen option)
(C) O NLQJ
(D) O MLPJ

Question No.10

Find the next number in the series.
3,7, 24,68,209,?

(A) O 612 (Chosen option)
(B) O 621 (Correct Answer)
(C) O 385
(D) O 475

Question No.11
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Boc
Replace the question mark with an option that follows the same logic applied in the first
pair
Wine : Grapes :: Rubber : ??
(A) O Cloth
(B) O Latex (Correct Answer) (Chosen option)
(C) O Cotton

(D) © Wool

Question No.12 \

Boc
Find the next number in the series.
372,339, 286, 213,120, ?

(A) O 7 (Correct Answer) (Chosen option)
(B) O 8
(C) O 5
(D) O
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